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Below are given four alternatives of the answers of the given questions. Choose the correct
one and darken the alternative (A or B or C or D) in the Answer Sheet (OMR Sheet).

fi"n frn.d sp-{r d ss !-fi d s<rs d qn ft-6-fl k}.rs tte-S fr-fi-fl (AqTBzrrctITD)g16-{
st sas q+o (oMR qt-el t .rflr o-rf,r of r

Section-A EIW - 3l

fr=fr(u.m.rtso)
1. 'iTqr' Yr6E q;t qqffi t -

(A) qq-il-q

(B) gRqTq

(c) xuTqlq

(D) tFltlFI

2. 3rqr{o' tq $) qmi ts-fiq nv d qq

S qu ,rw r Es qmq t ugao 'q{
qs qrfl' EElq-{r ol cTaf +fl -
(A) ssf, s-{r$ d qrqr

(B) qgd s{ qFIT

(c) q-Sd gsr d qrql

(D) ego otarra or+
'i-d of Gil-q' o) o-u qror B -
(A) Elcil=IcT

(B) Grd{rr?r

(c) qrfi or q-a

(D) {l\rIT;lET
'{a1f,' Pr< or fr-dYq t -
(A) EflT
(B) qeq
(c) Eerq
(D) Hflq
qR qqm o-r qcr?rcl gqr t n\ rnqn
qr< ol-3Taf Ei-.r-f -
(A) d'-T
(B) qTgqTq

(C) .ftq
(D) of{ ,ft q-€i

6. 'fr,-{uT' yt-< E-t qqffi Pr< TS t -
(A) qRq

(B) 3lg

(c) qqr

(D) qer

'q&-.€T' yr.( fu-fl srlrs
\E-
(A) c-qs.q rfirNr

(B) qEfiF Hrl-{I

(c) 6.dww qqRr

(D) g€ sfl-s

qrqt-
(A) qrES srdE

(B) errfr qr<

(c) d+rq q-q
(D) Tffiq Yl-<

ffifuiT qTcqI ii t gq amu gftn-
(A) {\,IT EYRq d qn aud gV f

(B) Tluil EsRaT d qn acd gv t

(c) vtail E?RsT i qrq aod gv t

(D) {urT qfl-{s tD'r sr{ a-vd gv t

'3r-$fi-' Yr< o.t eref +'n' -
(A) qcuko d-fi t qrw sH t

(B) {d qEn t qtw Erq t

(c) fu-dTq qa ord qrq fu-ql rrqr

5rII
(D) gn evo rtw fu-qr rRII Et=T I

6r gErflYr

:

tr

.-

aJ.

4.

5.
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1r.:'1::-

:rnEll

aElttE

13.

11. '&Yr erq ol $fq - ffiq *qr -
(A) tq + {er

(B) t+or + {vr

(c) tq + ts
(D) *i{ fr 1s

12. 'sljf,T' Yrq qtr ErgTfi sq d-dr t'-
(A) aorei)

(B) eroreir

(c) tr-in(

(D) ot$ TS

5-R qr5-{ 6.r rrr{f,T E t {fl qr-{q

trgffi Q-r rtD-s fr-n?F o-t trlq Ei

(A) $-nf

(B) 6-{uI

(c) Hq-Erq

(D) srrr]-{FT

t4. 'dr e-gn \flFrtrr B s-S .rry o-ad d?

(A) 3TET

(B) q-sa

" (c) srdrEr

(D) e-frs

15. \rTTif.F cD.elT H dl rl-{

E-dr?i -
(A) +qrq d {rr
(B) BqrDn oT q(frT

(c) q-{q.

(D) qfreil

frf+dT fue o-or Ei q-6-fi ox gffi d
Erri ari or +tq t -
(A) c-€t m Gnd{

(B) fr tE€ 8-c
(c) q-dlq 

E-qr-{ Er*r

(D) 'l-rr tft
fr-q q[c(i d qfft o-r gq r'q otq qr

tz
(A) oTrg{E

(B) errgiE

(c) 3TIU{E

(D) Grr{iE

'{rH q errfl' garnr or eref t -

(B) qo-stqGTr;il

(c) eror q€t dq:qr

(D) .no q erqt

31t}q'T.rer Errrfi r6.rot d +qfi t -
(A) qrrq-ft q-iTrE Bilft
(B) llritg EREiE

(c) Elrf,I Eqrfr drET-{

(D) ot$ T€i

fuH T€i ui-or qr so o-saror i?
(A) ei-dq

(B) q fio
(c) qrifu-f,

(D) q{luEI

q,-dfft O-I qTrI
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2l T6 rff{ qft .r<r gEq - e-oq tqi
f,lr I EH qrqq ti gqq - gE{ tqi
cF-l ctclT qOAq e"?

(A) k+ q-f,o- ft,$t M qrqT

tn) or-nsrfr 3frd t ts-qT

(c) ffi e-E o-{d +s-{r

(D) ttt wqr
gs-q mT q-Sqz-{ tq t -
(A) g$q

(B) dss
(c) gtrfr
(D) 5tt\
erq d 1TITi eil-fr fr B-s-d e)qT B-s

q-i r q-d dqI B-.si or eief B -
(A) fr-q ssfl
(B) qgd qflI \aHT

(c) tiTq E)-{r

(D) qql-q=I cD-t;IT

26. ,,6-tc1 qxcl GTrrn:H t .flsqfu *O g$pq"

q[-fq q .fl-.€qrf, qrq 6-1 3{ei 6rdr e

(A) Td
(B) gRqTq

(c) EFc-d

(D) tre'r gE

"ffi" q-q oT qETq-{ t -
(A) W
(B) ffi
(c) ffi
(D) d-q-R

'ds?Fqq' { Grt=rE r-em B t gs qr+q fi
"GrFrE fu-s q-o-R d q-sT t?
(A) wfuq-rq-+.

(B) qfrc-qrqo.

(c) lfltrfl=ftr

(D) lTfE-fl-f,fr

's"q aiq{' d s-eTf,{oT =ISt t *
(A) YI

(B) q
(c) q
(D) q

ot.q r{r Prq g-q cfift qrer t?

(A) qrTft

(B) 3II.TIfr

(c) 3Te4q

(D) 3i-5gd

tl

22.

24. ri qor o-Eor t fr An+ q q-6N d
Tqil oT t-fi TSr o€il t gs qr+q ii
'9TT 6-gfl' o-r srqref E\rrI -
(A) q["r +fl
(B) qFfgT cnr=u

(c) qF-fl d-sqr

(D) qrq q,t or-gfr t{r
25. qE=T qrq o-t gs' osot erq-+ fttrqt fr

d qreT .fiq t {idr srT r ud rgm er<
'frrrqT' o-r ffio erq Er.rt -
(A) frgt
(B) Helql

(c) q}.IFqqlrft

(D) oY$'ft TSI
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Section - B
Mathematics (Q. Nos.31 to 70)

31. Find the greatest number which divides 285

and 1249; leaving remainders 9 and 7

respectively

(A) r38

(B) 238

(c) 276

(D) 208

32. Reduce 
289 

,othe lowest terms -
39r

(A) t7

(B) 23

)7

l7

(D) 17

23

33. The highest common factor of two co -
primes is .....

(A) o

(B) I

(c) 10

(D) All of above

34. If a and b are co primes then their LCM

is...........
(A) 0

(B) I

(C) atb

(D) ab

EIU€ - E
.rFm (u.m. ar t zo)

{6 {S t TS €wr Erf, znf ftil-*rd

28s ct{ Lz4s I qrrr ti qq mqvr: q}q

9Sr7E?f-
(A) 138

(B) 23s

(c) 2t6

(D) 208

28e dt ftq-ffi q{r d ftrd -
391

(A) 17

(B) 23

(c) 23

t7

(D) 17

23

dt er,nq Hcqrcii 6l rrfir,t sqrq-q-do.
i\6 ........................

(A) 0

(B) I

(c) 10

(D) Bq{ffi rrrft

34. qR a *q u d orsner tiqEqr( t d
B\TDT ETgilq *ry *rn .......... r

(A) 0

(B) .1
(C) alb

(D) ab

Page 6 of 32lsEr-B -5I
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112 { 8e t-G -.......... {
35.

,'. (A) 112.089

(B) rr2.8e

(c) 110.8e

(D) rr2.98

36. The angle between two hands of a clock at

9 A.M. is ....'

(A) 45"

(B) 30o

(c) 90o

(D) 1800

37. 3.467 kilo meter =

(A) 34.67

(B) 346.70

(c) 306.70

(D) 3467

38. 2.5 litter = ...........mililiter

(A) 2sO

(B) 2s00

(c) 2s000

(D) 0.2s0

e qd sro: ts q,r ffi E-{di d fi-q .

6 pt"r rr-ar C' I

(A) ' 112:089

(B) rr2.89

(c) 110.8e

(D) rr2.98

Jb.

(A) 45o

(B) 30o

(c) 90o

(D) 180o

:.+oz ftaa}freq =..... fteq

(A) 34.67

(B) 346.74

(c) 306.70

(D) 3461

2.5 ftet =

(A) 254

(B) 2s00

(c) 2s000

(D) O.2s0

PageT of 32
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35.

1,..

112 rupees and 89 paise = rupees -

(A) 112. 089

(B) tt2.89

(c) 110.89

(D) t12.98

The angle between t,wo hands of a clock at

9 A.M. is .....

(A) 45"

(B) 30'

(c) 90"

(D) 180"

(A) 112. 089

(B) tt2.89

(c) i 10.89

( D) I 12.98

e qS qrn: qS at ffi r]_$t d +q

O'I OI-UI E=MT E I

(A) 45"

(B) 30o

(c) 90'

(D) 180"

3.467 ffid{

(A) 34.67

(B) 346.7A

(c) 306.70

(D) 3467

=...... .... fie{

2.5 fret =

(A) zsA

(B) 2s00

(c) 25000

(D) 0.2s0

36. 36.

37 . 3.467 kilo meter = ..... meter

(A) 34.67

(B) 346.10

(c) 306.70

(D) 3467

38. 2.5litter ......mililiter

(A) 2s0

(B) 2s00

(c) 2s000

(D) 0.2s0

lsET-B -6I Page 7 of 32
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39. If the length and breadth of a rectangle is

20 meter and 10 meter respectively then the

perimeter of the rectangle ir 
,. 

. . . . .. .. .

(A) 60

(B) 200

(c) 100

(D) 2

40. If side of a square is doubled then area will

increased .. times.

(A)

(B) 2

(c) 4

(D) 8

4I. The space cevered by any object is called

(A) Area

(B) Perimeter

(C) Length

(D) Volume

42. Expand the pattern ll8, 120, 122, 124,

(A) rzs

(B) 126

(c) 248

(D) All above

qR ftr{ft &t-{ q,t ffir{ Sq

N lrrrgi: 20 ft flen 10 ft. B dt

{€-"f qR'Ffr ................+-r c}rft r

(A) 60

(B) 200

(c) r00

(D) 2

qR q.f of gw ffi or fi rnq a\

sqtFT dTD-d q6-*-q.......... . XW d
\il\rr11 I

(A) I

(B) 2

(c) 4

(D) 8

mt$ e-ig rerq ffi t qE s€-iF'I

................. .o-f,drf,r t I

(A) fi*=
(B) qRflq

(c) cqr$

(D) sTIrkFI

H oi Grri qdr$q 118, 120, tzz,tz4,..

................,t

(A) tzs

(B). 126

(c) 248

(D) sq$-ffi wlft
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ll

43. Choose the number which is not in pattern

89, 81 ,73,65,57,54,41 -

(A) s0

(B) 41

(c) 6s

(D) 73

44. Chang the time 2 hours 10 minutes PM

into Z4hour format -

(A) 2:t0

(B) 210

(C) 14:10

(D) 12:12

45. The calculation of volume is .....

(A) One Dimensional

(B) Two Dimensional

(C) Three Dimensional

(D) Four Dimensional

The sum of the three angles of a triangie is

equal to ... right angles.

(A) 180

(B) 2

(c) 4

(D) 360

ss ricur oi gi Gil H q PTrfrd l-€t

t 89, gL,73, 65, 57,50, 4l

(A) 50

(B) 4t

(c) 6s

(D) 73

rTrrcr 2 qq-$-{ 10 fr{e sFNlE d Zq -
e-e A qT.tu q q-qc,i -
(A) 2:10

(B) 210

(c) 14:10

(D) 12:12

eTIrkt=I qft Tu1ql +ft t -
(A) qo fr'$-q

(B) B - frfi-q

(c) B - fu$-q

(D) qr{ - fr'tfiq

Bg'r + ffii o).if or qlq

rrqfrinT d qsrqq *or t r

(A) 180

(B) 2

(c) 4

(D) 360
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I85E
,EISE

47. What is difference between five digits

largest number and four digits lowest

number?

(A) 1

(B) 999

(c) ril
(D) gSggg

The sum of two numbers is 39978. If one

number is 18367 then what is the other

number?

(A) 216lt

(B) 3r6il

(c) 3611 r

(D) 0

The product of two numbers is 115625. If
one number is 125 then find other number.

(A) 82s

(B) g25

(c) 63s

(D) tzs

Find the. highest common factor (HCF) of

4.12 and 18.

(A) 4

(B) 6

(c) 36

(D) 2

47. s Gim) zh1 q-d-$ cS eil-q + crs\ at
q-q-A d-e ircqT .Ft et R Tqr drn?

(A) I

(B) eee

(c) 111

(D) 98999

d rls-qrcTT .FT qtrrrh-d 3sg7l t r qR

u{{ t q@ lrcqT :r:67 e a\ {flft
TrcqT Tql" T?

(A) 21611

(Br 3l6ll
(c) 36111

(D) 0

d {r{qT3Ti s-I Xrrrcq"H I i562-s * r

s{t i\ g6 rl-rqr 12s t i) RT-ft e-{qT

's6 dfuv t

(A) 825

(R) e25

(c) 635

(D) 125

4, t2 Gtt-{ 18 qrr rriflrr qqrqq-+6 Erd

qifr\ 
r

(A) 4

(B) 6

(c) 36

(D) 2

.ii

48.

49.

50.
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sr. Sorve:- lff -Z)-..27\3 e) 3

58(A) ,

(B) +
(c) 19

7

(D) None of these

rm ettus:- 1(1-1\*!- 7\3 e) 3

58(A)
2l

(B) 54

7

(c) +
(D) Bqiqn o.Yi q-e

qR g q-q-$ e"I q-c-S slo < qftft{

t, d 15 rrtr{ii o1 zo ftdi of q-q-$

frreri < d.ft?

(A) 5100

(B) 51000

(c) s1sl0

(D) sr0sr

3rffidHeter{tgaffieqotur

tz

(A) 2

(B) 1

(c) 4

(D) sq{ffi ot$ q-S

qq fr frrqlt of rtqr ......... *ft t t

(A) 6

(B) 8

(c) t2

(D) 4

52.

53.

If the wages of three workers is t510 per

day then what is the wages of 15 workers in

20 days?

(A) s100

(B) s1000

(c) 5ls10

(D) sr0sr

How many right angles are in English

Letter H?

(A) 2

(B) 1

(c) 4

(D) None of above

There are ......... edges in a cube.

(A) 6

(B) 8

(c) 12

(D) 4

I
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55. How many meters

kilometers?

(A) :ls

(B) 3s0

(c) 3.s

(D) 0.0003s

are equal to 0.035

3.207 kilometer x 5.20 kilometer =

centimerter

(A) 16.6764

(B) 1667640

(D) 671646

How many packets.of 250 gm spices are

formed from l5 kilogram spices?

(A) 60

(B) 100

(c) 7s

(D) 660

How many packets of 200 ml. milk are

formed from 1.6litre mitk?

(A) 18

(B) 20

(c) 6

(D) 8

ss. o.o3s fu-difr-c-i ffi fid{ d q{Fn

B?

(A) 35

(B) 3s0

(c) 3.5

(D) 0.0003s

s6. 3.207 frrdrqzr

ffift-eq

(A) 16.6764

(B) 1667640

(c) 67.1646

(D) 671646

x 5.20 fu-d)+cr =.......

rs ffirm q-€d t zso qTq q'€rd d
ftrili ffie qfl\ qr sdi?
(A) 60

(B) 100

(c) 7s

(D) 660

2oo ftfr RT qr-d

(tT t qtrTz

(A) 18

(BJ 20

(c) 6

(D) 8

57.

frrni.q-d-c 1.6 fu-{
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59. 2+2+2-............

(A) 2

(B) 3

(c) 6

(D) 8

60. What is the place value of 9 in digit 34.59?

(A) e

(B) e0

o(c) )
100

I
10

6I. The difference of place value of 3 in the

digit 453683 is ...

(A) 2ss7

(c)

(D)

What is product of place value of 4 and 7 in

number 685439.I7?

(A) 68

(B) 0.280

(c) 28

(D) 3s

100

9

l0

453683 q d-{ Ten$q qrqi 6T sif,q

t-
(A) 2997

eio oss+:9.17 ii 4 dsr-r

oT Xurqs-d qqr t?

(A) 68

(B) 0.280

(c) 28

(D) 3s

z *eTr+q qrrT

1 t1:1 -

(A) 2

(B) 3

(c) 6

(D) 8

ero :+.sq q

(A) e

(B) e0

9 tenfrq qH cfl B?

(c)

(D)

6I. 3TEF

(B)

(c)

(D)

aJ

300

600

(B)

62.
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65.
iri,."

Lt*
ilFl
':,li .t :

ili r_ :

63. What is an example of circle?

(A) Football

(B) Sun

(C) Earth

(D) Roti

64. What are the common factors of numbers

18 and 30?

(A) 2

(B) 3

(c) 6

(D) All above

Fill up the blank with required number.

(A) 6671

(B) 7328

(c) t27

(D) 13327

Find the lowest cofllmon multiple of

12,15,30.

(A) 2

(B) 6

(c) 60

(D) t20

63. Td o-r sfl-6{ur qqT t?

(A) Ee-qrd

(B) qs

(C) Y'?fr

(D) iia

ti
(A) 2

(B) 3

(c) 6

(D) sqstr q's

6s. sS ot_o. t srft crre o\ qt 
t

3328 + ... =9999

(A) 6671

(B) 7328

(c) r27

(D) 13327

12,15,30 or Egf,q Eqru-qd ffii -
(A) 2

(B) 6

(c) 60

(D) t20
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68.

67. How many 5 - digits numbers are there in

all?

(A) e9000

(B) 90000

(c) 9999

(D) 9000

Write the smallest 8 - digit number having

fbur difl'erent digits -

(A) 0100r 002

(B) 10001111

(c) 10000123

(D) 10000023

69" What number comes just after 9547999?

(A) 9548100

(B) 9s47998

(C) 9548000

(D) 9ss8000

70. I'rnd prirn factor of number 12 -

(A) 2

(B) 3

(C) 2 and -3

(D) 2, -7.4,6

61. fr-q orm\ o1 qe qsd fa,rT-{t E}-dl d?

(A) 99000

(B) 9000t)

(c) eege

(D) 9000

68. qR fr".;q _ F-q # qrfi ens

ftt q-q-{i et-& e-cqr ftrd -
(A) 01001002

(B) 10001 r 11

(c) 10000123

(D) 10000023

6s. ss|Tsss d erE 6t"{ - {ft rrqT t?

(A) 9s48100

(B) g547gg8

(c) 9s48000

(D) 9558000

iic.qT 12 $ q+1sq erq+do fimrd -
(A) 2

(B) 3

(c) 2 3il-{ 3

(D) 2,3. 4,6
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7t.

72.

natJ.

7t.

72.

t5.

[:-

I

I

I

Section - C
Sciencei(Q. Nos. 71 to 95)

Who is the Nobel-Prize winner of the

following?

(A) Amartya Sen

(B) APJAbdulKalam

(C) Mahatma Gandhi

(D) All of them

Guru Govind Singh was born in-

(A) Bhagalpur

(B) Patna Sahib

(C) Aurangabad

(D) Darbhanga

Who discovered that malaria is spread by

mosquitoes?

(A) Dr. Ronald Ross

(B) J. J. Thomson

(C) Madam Curie

(D) Goldstein

74. From which country students came to study

atNalanda university?

(A) Korea

(B) China

(C) Tibet

(D) Al1of the above

75. Where is Nalanda University situated?

(A) Patna

(B) Nalanda

(C) Pavapuri

(D) Rajgir

lgug - g
ftarq (u.m. tt t ss)

ftq q t e,*{ +q.i{ g$r+i-r *
{]=qrF-fl t?

1A) 3rq-id +{
(B) q.ft.d Gr€d oEItrI

(c) qenq rnul

{D) STn ls.fi

T5 riftrE fi{o or qq .: fr g3TT ?dr 
I

(A) qlrdS{

(B) qeqT erFq
(C) oTt{qmq

(D) q{+IJTT

q-SRqT qzu-t t fd-dT t, g€-ot si-q

ftrq-i dl?

gt. t-qr('E fr-fl

G.. G-. alFf{I{
li*r:1l

rtEli{} )

(A)

(B)

(c)

(D)

74.

75.

qrd-{r ffimq d m-d

E-r, q-d{ 3rt Q} 
r

(A) olRqT

(B) fr-{
(c) ft-qa
(D) E-+q r+.-t

Trf,ET freq-frercq o-d ea-qftpro

(A)

inl
(c)

(D)

t-sn q{ft

Iffiq

qE{I

qlfr-qr

s-d d

tz

ir-drfR
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Which <lisease is caused due tir

female Anopheles nrosquitos?

(A) ,\{alaria

(B) Jaundice

(C) Typhoid

(D) Dengu

Bihar shares its border with

country?

(A) Myamar

(B) Bangladesh

(C) China

(D) Nepal

78. Cactus plants are lound in :-

(A) Deserts

(B) Plains

(C) I\{ountains

(D) Platue

79. In which centu{y Nalanda University was

estaUbished?

(A) Fifth cenrury

(B) 8'h century

(C) l2'h centurv

(D) None of the above

76. qrqT Tifufr-s q@{ d .il-c+ * d-{

fi fiqt Etft B?

(A) q-ARqT

(B) fr-S-il

(c) dl-qrD-{rgs

(D) e{.

77. R-aiq {rq *1 fiq1 * fu-s *r'ot qfiET

tr-s t?

(A) qrql-{

(B) q.TdT erT

(c) aq

(D) iqrf,

78. d-f,c-q d dri fr qrq qr& t?

(A)

(B)

(c)

(D)

ffi {nrd

qET.e Sm-rm-r

q-ort garor

ErdET frrqfr--eraq ot

Qrdr€ d g$ sfr?

(A) ffiPTil-d
(B) 3il.dfr Pmrd

(c) 12fr Yrdrd

(D) q+n * sH q-Si

{e[q-fl- fu-g

16.

)

\

77.

/

\
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,iriA

80. What we get from sun?

(A) Heat

(B) Light

(C) Heat & Light both

(D) None o[ the above

81. Which paper absorb more heat from Sun

Light?

(A) White

(B) Black

(C) Red

(D) Violet

Highest Peak of our Himalaya mountain is

called-

(A) Everest

(B) Tiger hill

(C) Kanchan-Jungha

(D) None of the above

From Bihar who has concurred the Mount

Everest?

(A) Smt.Nirupma Agrawal

(B) Dalton

(C) Tenjing Norge

(D) Goldestein

84. How for Nathula is situated from

Gangtok?

(A) 100 km

(B) 52 km

(C) 500 km

(D) 120 km

81.

82. 82.

83.83.

84. .Tr"t6 i\ qEFT frra-ft qtr w erqRerd

\â/

(A) 1oo fu.fr.
(B) 52 fu"ft.
(c) soo fu.fr.
(D) 120 fu.ft.

80. rS d fi qqr-qfl Ff,-dT t?
(A) f,rs
(B) qcFl{l'

(C) fl-q Y.i e-m-IaT ffi
(D) flq $ 6i$ q-$r

FEr fr t t?rs tr or mrrm irh s-f,f

(q$ w sffiyilqrT 3Tlr)-6 zntqT?

(A r qTs-q

(B) ih-Iai

tCt c{|il

(D) Srril

Eqtt iBrilc{-{r q-ffd sIE-dT d w-s #a
flrsq qi +qr mf,i d?

(A) gqqi{

(B) irlill-tq fBd

(c) mq{qqT

(D) s-{n t oi$ rS r

frET{ q,t ot{ {ft qffi-S i qrsue

q-qtiz @t 
")-e 

q{ fusq qtw .ht B?

(A) sfoq-fi fi--sqqT elIrqlFr

(B) sl-d{
(c) t{furrqH

Grl .il6{Sq

lsET-B -6I Page 18 of 32

Downloaded from:  www.cbseportal.com

Downloaded from:                             www.cbseportal.com

http://www.ctetportal.com/
http://www.ctetportal.com/
http://cbseportal.com/
http://cbseportal.com/


85.

86.

How many teams are in 'Kho-Kho'game?

(A) Two

(B) Four

(C) Five

(D) Three

Which game is played between two players

only?

(A) Wrestling

(B) Cricket

(C) Hokey

(D) Kabaddi

Which of the following is first residential

university of the world?

(A) Vikramsheela university

(B) Ranchi university

(C) Nalanda university

(D) Bihar university

Which temple is situated in Aurangabad?

(A) Jal temple

(B) Dev Surya temple

(C) Mahabodhi temple

(D) Hanuman temple

What are the traditional sources

irrigation?

(A) Rivers

(B) Ponds

(C) Wells

(D) All of the above

,et_IEt,d.dfrffiffid.&d?

(A) d
(B) sn
(c) diq

(D) fiq

fuq t t qt qfrilqt argr ot{ t d.m

d.d qrn t?
(A) qrft

(B) ffie
(c) El-+t

(D) oe-gr

frrq ?Er qej-rr Gil-qr$q frpqfrsr.l-q ftr=1

fr t o)q t?

(A) ffidT fusqBeTia-q

(B) rtfr Msr,m'q
(c) qrEiET fuzqB-qrcRl

(D) i=en r+rqfrfqf cru

3il-rqrqrc fr rht-{ ffi qffi B?

(A)

(B)

cE qk{

t-q W qfrr

(C) q6rdE qk{

(D) ETqTq rifui

ffi $ qsrqqppo qrEFr ot-{-otq t
N^

E/

(A)

(B)

(c)
(D)

87.

88.

89.

qF{qi

dr?trq

qur
f,rti isfr
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90. 'Valmiki National Park' mainly conserve
which of the following animals?
(A) Deer
(B) Tiger
(C) Panther
(D) Fox

Animal that eat plants only are called-
(A) Carnivores
(B) Omnivores
(C) Herbivores
(D) None of the above

Which of the following fuel we use for
making food?

(A) Wood

(B) Kerosin oil
(C) Gas

(D) All of these

How many districts are in Bihar?
(A) 40

(B) 38

(c) 30

(D) 4s

The Crops which are sown in summer

season is called-

(A) Kharif
(B) Rabi

(C) Zaida

(D) Nagdi

In ancient time the way of Nathula was

known as-

(A) Silk-marg
(B) Pahari-marg

(C) Silk marg & Pahari marg both
(D) None of these

'qTodlfu iTSq sil+ ti 5w sq t
fu-s qtq-q{ or riqeTur fusr .rqr t?
(A) Bq"T

(B) qrEr

(c) *-dT
(D) dr.s
qFtcn E) ftffi qhi grt d, o-6-f,rd t-
(A) qiElErfr

(B) qdqeft

(u) q[flr6l{r

(D) qri t 6ti TS
fr-q t t fu-s {eI{ qil sqqtq qrr{f
qqrq o 5q ii o-{d d?

(A) .r9
(B) frrtRr+ d-d

(c) n-{
(D) fln qff
fr-.6TifrfrriliffiH?
(A) 40

(B) 38

(c) 30

(D) 45

.Tfi d +fi qfi ql.ft s-€E ol qqr

o-6r qrar t?
(A) sQ.r
(B) sft
(c) qrilEr

(D) T'Ifr
fr qTTdT o-r qrkrT fu-s qrq

t qrql qrf,I er?

(A) fuo. qFf

(B) qEr.s qid

(c) fu-tr qFf yq qET:S wf #i
(D) iliq 11 oli +t

90.

91.91.

92.92.

93.93.

94. 94.

95.95.
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Section - D

Socia! Seience (Q. Nos. 96 to 120)

The National heritage anirnal of India is -

(A) Elephant

(B I Tiger

(C) Lion

(D) Gangetic Dolphin

The meeting point of two or lnore river

called :

(A) Mouth

(B) Esruary

(C) Source

(D) Conflucnce

The largest artificial sea port of India is -

(A) Haldia

(B) Mumbai

(C) Marmagoa

(D) Chennai

99. Mahabharata was written by:

(A) Valmiki

(B) Tulsidas

(C) Kalidas

(D) Ved Vyas

100. Which Indian city is called the city

seven islands?

(A) Mumbai
(B) Kolkata
(C) Vishakhapatnam
(D) Chennai

98. qri-d d !r-d-S E-e cre-rFfro. Giqrn-6 6T

qqr qrq t?

(A) 6kqT

(B) 5-q-$

tc) qffiu't
(D) N

sg. Er6rqr{f, fu-{ 6. gm fuql rr$

(A) ql-cftfu

(B) g-d$-il]

(C) oTfuErfl

(D) -fr<-qrfl

1oo. fuq lTlrftq sri{ mt Hrf, Sdi
O-6I EIfl' T?

(Ai 5E-$
(B) 6i-f,-ST-dT

(c)
(D) +T$

Elug - s
THrq sTezrqrr (v.m. so d rzo)

x{I{fl er {rs?T frirqf, ug d}+-ur t?
(A) 6lefr

(B) qrEr

(c) tq
(D) jTfnq grfu-q

qt q Bqt 3TBo. qM d furE {+rd

o) cql zn-6r Hrfl t?
(Al 5-dT-rT

(B) WN-r-E5eq

(c) uld

(D) $-q{\'s

6-I YIE{

96.96.

97.97.

98.

eft?
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101. Which colours are being used in the Indian

Nationalflag?

(A) Orange

(B) White

(C) Green

(D) All of the above

102. Hasmandir sahib of patna is the birthplace

of ....
l

(A) Guru Gobind singh

(B) Mahavir

(C) Guru Nanak

(D) Buddha

103. Who is the writer of Indian National

Anthem?

(A) Harivansh Roy Bachan

(B) Maithli Sharan Gupt

(C) Ravintra Nath Taigore

(D) Bankim Chandra Chatterjee

104. Unity in Diversity is the national identity of

India.

(A) Right

(B) Wrong

(C) Can't say

(D) None of these

qrrd d YrSq sicT fr

q-*,T ii drqr .ilrf,I t?

qr{rft

q$-q

6{T

6t{-6t{ HI \irl

(A)

(B)

(c)

(D) sq{-ff qlft

102. rteqT o-r E{IfRr qrsl qrr

S+NPIH T I

(A) Xs q\fr< Ri6

(B) Tdrfiq

(c) 55 fl=rtr

(D) S€

103. qxa d {r*q rrm A r-qfufrr E1l t?

(A) ERri€T qrq ea{

(B) fford YRuI Uq

(c) {f{q qIPT tril{

(D) Effuq aq aeff

ro+. 'Efreror fr q-q,-dT' qrrf, qtt TrSq rrfirn

tr
(A) qfr

(B) Terfl

(c) o-6 ;r€f q*f
(D) g-+} t oti q-€i
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. 105. The small and big baneries

charged with solar energy.

(A) Right

(B) Wrong

(C) Can't Say

(D) None of these

106, Which of the diseases

from mosquito?

(A) Maleria

(B) Chickengunia ,

(C) Dengue

(D) All of these

{rt{ g.-qi t E}-fr-q$ teM qr.f et
qrfr sr

(A) ss

(B) rlElf,

(C) s-6 T€i {rqid

(D) E-q-n t o)-$ TS

rr@{ t ot{-rht{ t rt T +ma Sf

(A) qaRqT

are being spread

sick

any

(c)

(D)

107. Infections disease transmitted from

person to healthy person through

medium -

(At Right

(Bl Wrong

(C) Can't Say

(D) None of these

108. When was Jharkhand
Bihar?

(A) 199e

(B) 2000

(c) 200r

(D) 2002

separated from .F-q 
E3TI?

lsET-B -61

(B) fro_+xftql

eJ

Bq{-ffi r+rfr

107. {iqrrqcr' i)T t=ft qftfl {i fffi fI
qruqq d gor r*r-qer 

.ark a-6 T&r& d

(A) ss

(B) Ie,ra

(c) o-6 TSt irn-A

(D) a-{q t 6H q-e

108. HI{sro-s fra-q $ Eerfi

(A) 1gee

(B) 
.2000

(c) 2oo1

(D) 2OO2

Page 23 of 32

I

Downloaded from:  www.cbseportal.com

Downloaded from:                             www.cbseportal.com

http://www.ctetportal.com/
http://www.ctetportal.com/
http://cbseportal.com/
http://cbseportal.com/


109. Champaran Satyagraha was led by-

(A) Rajendra Prasad

(B) Pt Nehru

(C) Sardar Patel

(D) Gandhi ji

Raja RamMohan,Roy was the founder of

the-

(A) Brahma Samaj

(B) Arya Samaj

(C) Ram Krishna Mission

(D) ThiosophicalSociety

Who is the first Tirthankar in Jainism?

(A) Rishabhdev

(B) Parsavanath

(C) Mahavir,

(D) Neminath

The Inscriptions of Ashoka and the Brahmi

Script were discovered by -

(A) Cunningham

(B) James Princep

(C) Maxmullor

(D) Wheeler

The Nalanda university was set up by

which ruler?

(A) Kumar Gupta

(B) Dharampal

(C) Gopal

(D) Rampal

109. qHli.{q r{Gnir6 $T +[.q f?rqr erT-

(A) Yfr< r$rq

(B) tt6 f5-5

(c) si-{R qeE

(D) Tltfr "ft
110. VIuTT lTqd-f,{ {Iq €eAq6 a}-

(A) sl.il {{sTIcI

G) sTrs sqrq
(Ci \Tq?NT frqt

(D) f}qlntfrro-f, HrflTqA

+q qd d qQrq fteto-i @1-q a)?

(A) UElI<cI

(B) qrsiq.rsT

(q q6rft{

(D) ffifl.ar

1 10.

111.

112. srYr)-n d Grftrd-s Gi)'i ilS frfu s)
frffi-i tri-qT?

(A) m-Ftqq

(B)

(c)

(D)

qqFEI ftsqF{ffErq qrt TanT{f

errcro i of aft?

(A) gqr{ xE
(B) qdwm

(c) q)qm

(D) qFMtm'

der fr-0q

tw1da
d""li

I 13. fu-s
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114. The Vikramshila University was set up by

which ruler of Pal dynasry?

(A) Dharmapal

(B) Rampal

(C) Gopal

(D) Kumarpal

115. Who is known as the "Grand old man of

lndia"?

(A) C. Rajaopalachari

(B) Dadabhai Naorori

(C) G. K. Gokble

(D) Lala Lajpat Roy

I 16. Where is the capital of Bihar?

(A) Parna

(B) Jaipur

(Cl Bhopal

(D) Ahmadahad

i 17. The crescent shaped sand dunes in the Thar

desert is called:

(A) Barkhan

(B) Mound

(C) Playa

(D) Seif

114. fu-s qt-d-qyr d .rq-* i ffiraT
lffiuiaq o1 terq{r ot:

(A) qdqd

(B) T[rIrTrcI

(c) dqlf,

(D) Eqnqrd

lts. ".)-is otf-is t{ GIq" gfrsqr" d roq fr

zht{ qri qri t?

(A) S ir-u"ilq6-,q

(B) <rqril{ +r}fi

(c) m. d'. "rffi
(D) GTFII dTGIrIf, {t-rl

116. fufl-{ +t vroqrfi m-d ti
(A) qeqi

(B) qq5T

(c) fE-rn

(D) 3r{rl{rlr<

r 17. Qtr{ tfrrf,rq fr 3t-*q-;El-6ri qrq, d F{q

O\ .rqr m-dl qrdt B?

(A) qECrFi

(B) ITss

(c) wErr

(D) {fiE.

I

I
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1 18. A place where railway line radiates in more

than two directions is called:

(A) Terminal

(B) Yard

(C) Station

(D) .lunction

119 Who is the firsl Chancellor in Nalanda

118. fug TaIl=I tN

frYIrcn et eri(

qTdT I?

(A) effiqd

(B) q-r€

(C) €rTq

(D) furq

t-d ETil{ Et

qffi d s-A

t efr6

qqi m-6I

i

x

fiil

IF

International University?

(A) Dr. Amartya Sen

(B) Lord Swaraj Panl

rCl Meghnld Desai

(D) Montek Singh Ahlwalia

'I'hc lndian state having maximum

population is-

(A) Bihar

(B) Rajasthan

(C) West Bengl

(D) Uttar Pradesh

120.

119. qrorqr er{trq ffiqrd-q d qerq

gc{rlffi d-q d?

(A)

(B)

(c)

(D)

120. {Iq-$

qi-{

(A)

(B)

(c)

(D)

3Tq-.d +q

d-€ rqsrq .iis

nqnq tqr$

qt"-o. Rle o-r-q-qrfrqT

Griq6 3{qrfr srdT qT{fr-q {t.,q

>?

frEN

quNaIFI

qR-qq Errrd

sfl{ q(ql
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121. Who was late in coming?

(A) Ram

(B) Krishna

(C) Shiva

(D) Jesus

122. Who was beating the daydreamer?

(A) Mohan

(B) Gopal

(C) Ansari

(D) Shyam

123. The third little pig built his house out of :

(A) Stones

(B) Bricks

(C) Soil

(D) Wood

124. The old man was:

(A) illiterate

(B) literate

(C) scholar

(D) idle

125. Fill in the blank:

He drinks glass of milk.

(A) an

(B) of

(C) a

(D) is

Section - E
English (Q. Nos. 121 ro 150)

EIug - g
stffi S.m. ,tzt t rso)

126. Select the word with their opposite : .Nice'

(A) Calm

(B) Wept

(C) Rude

(D) Reward

The baker took the poor man to :

(A) his house

(B) his shop

(C) court

(D) the city

Chose the correct spelling :

(A) spilow

(B) spiurow

(C) sppairow

(D) sparoww

Fill in the blank:

Sparrows are brown colour.

(A) in

(B) at

(C) on

(D) the

130. Fill in the blank:

Don't get off a 

- 

bus.

(A) run

(B) ran

(C) ran

(D) running

r29.
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(A) less

(B) light

(C) fast

(D) far off

132. Fillin the blank:

school is closed today.

(A) A
(B) An

(C) The

(D) Those

133. Pick out the compound word:

(A) Mango

(B) Sweet

(C) Woman

(D) Sunset

i34. Fill in the blank:

T come in?

(A) May

(B) Can

(c) will

(D) Shall

135 Pick out the correct spelling of imposible':

(A) impoosible

(B) impossible

(C) imposible

(D) imposibble

(A) exhaustbd

(B) week

(C) weak

(D) strong

137. In India Mother's Day is celebrated on:

(A) Second Sunday of MaY.

(B) Third Sun<iaY of MaY.

(C) First Sunday of May.

(D) Fourth Sunday of MaY.

138. Complete the word by choosing any one of

the following: 'Safe and

(A) voice

(B) area

(C) sound

(D) big

t. Who was wiser?

(A) Crocodile

(B) Fo.r

(C) Rabbits

(D) Fishes

140. Pick out the odd one:

(A) notebook

(B) book

(C) pen

(D) table
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14l. Who had ordered a grand dinner?

(A) Maharaja of Travancore

(B) Maharaja of Darbharga

(C) Maharaja of Mysore

(D) Maharaja of Gaya

142. "NOBODY'S FRIEND' is composed by:

(A) Enid Blyton

(B) Edison

(C) Martha

(D) John

143. What did the poor man enjoy everyday?

. (A) Smell of rice

(B) Smell of vegetable

(C) Smell of baking bread

(D) Smell of Pulao

lM. Whatdo sparrow eat?

(A) Grains

(B) Wood

(C) Leaf

(D) Srone

145. Where was the old man forced to sit?

(A) Chair

(B) Corner

(C) Middle

(D) Table

146. The sun sets in the:

(A) Easr

(B) Wesr

(C) Norrh

(Dl South

147 . ln dark night rhe source of Iight is:

(A) Earth

(B) Sun

(C) Moon

(D) Jupiter

148. An Arab got down and pur up his tent by

the:

(A) field

(B) street

(C) roadside

(D) pond

149. Who was the life of court?

(A) Akbar

(B) Birbal

(C) Shahjehan

(D) Alauddin

150. The ant was carrying:

(A) Grains

(B) Wood

rc) Stone

(D) Warer
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